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Your turn Multiplying Two Negative Integers Sept 9, 2016
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We just said , (+2) X (-4) means 2 sets of -4, but we always start @5t
with zero,so what are we doing with the 2 sets of -4?
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If (+2) x (-4) means to put down 2 sets of -4, what does L
(-2) x (-4) mean? (Always start with zero) o ) (_ )
A)x

It means to take away 2 groups of -4
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So (-2) x (-4) = tR

What about $;3) x (-2)? It means take away 3 groups of -2.
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So(:3)x(:2)=Tb
Now try (-5) x (-1) o 0 ®
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5)x()= +9

So when you multiply two negative integers, multiply the
numbers and your answer will always be 0S i+ v

Final Multiplying rule (-)x(-)= —‘/
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Number line Modeling ™" s
- we will focus on (+) x (-) or (+) x (+)
+2)x(+5) = ¥+ 10
Always start at zero
—

-0 9 8 -7 6 54 3 -2 -1 01 2 3 4 56 7 8 9 10
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Ex 3) (-2) x (+4) use commutative rule

10 9 8 -7 6 5 4 3 2 -1 0 1 2 3 4 5 6 7 8 9 10
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Homework/ Class Work

5c) V) +CN +6D)

L5

pg. 68 N

S 3x ()
#5,6,7,8(a,c) s
AND
| B) N+ (2) 1R HA)
6 (F)x(1)="28 ¢ x (-2)
. (O
0000 oo00 o0 0 WD DX X2
1)+ QU vk q)rEH) 16O
)
W
o @0
) P ﬂ(l\(«\-";\é :O
VL 34spe Red diles
l\tfjac\\‘
Wh .S\\-(L%d\é@
Ye,\‘c\r3 N
Yewt



	Page 1
	Page 2
	Page 3
	Page 4

